Name:

Date: Hour:

Zero Product Property Exira Practice

Use the Zero-Product Property fo solve each equation.
{x+ BYx-3)=0 -

Use The Zero-Produict Property o slve each equation.
(- 2Xx+ 9)=0

Use the Zere-Prodict Property to solve each equation.
(b-12)b+ 12)=0

| Use the Zero-Product Property o solve each equation.
(@n+ 3Xn-4)=0

Use the Zero-Product Property to solve each equation.
(x+ 7¥4x-5)=0

| Use the Zero-Procict Property to solve each equation.

(2x+ 7X2x-7)=0

Use the Zero-Product Property to solve each equation.
Bx-7X2x+ 1)=0

Use the Zero-Product Property to solve each equation.

| By-3¥4y+ D=0

Use the Zero-Product Property to solve each equation.
(Bx+ 6Y4x+5)=0

Use the Zero-Product Property To solve each equation.
(x+7) (=0 |




